
Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

Spare Parts List of Pani BP 6 GT © 
 

68-01- Undercarriage Main Assy  
MD80KB Casters  
MDF80KB Wheels  
DIN950-AL-100-B12-A Hand Wheel  
68-28-04/a Lift –off Spindle  
DIN6311-32-S Pressure Piece  
GN226/80/M16 Disc Grip  

68314-6831 
Complete tilt adjustment includingUpper 
mounting bracket and lower support  

68-02- Condenser Carrier Main Assy. No.:  
PN1024 Objective Lens Supports  
DIN315-M8 Wing Nuts  
GN6335. 4-SK-32-M6-50 Cross Grip Bolts  
DIN467-M4 Flat Milled Nuts  
68-03- Housing Main Assy. No.:  
68-05-48 Hinges for Lamp Access Doors  
68-05-14/c Side Locks (available as a set)  
69-05-15/a Switch Brackets for (available as a set)  
68-36- Safety Switch complete  
68-05-46 Bracket for Control Box  
91-18- Lamp Base Main Assy. No.:  
91-18- Lamp Base left and right complete  
91-18-07 Heat Shield for Cooling Fins (half circle)  
100-15-28 Heat Shield (angularly)  
GN6335. 4-SK-32-M6-35 Cross Grip Bolts  
100-01- Electrical Materials Main Assy. No.:  
22-0167/US Igniter  
21-0058 Tangential Blower (mounted left)  
21-0059 Tangential Blower (mounted right)  
32-0053 Tangential Blower (igniter area)  
331-528 Thermo switch 90°  
100- 06- Lamp Carriage Main Assy. No.:  
100- 06-1- Lamp Carriage complete  
100-15-15/a Reflector Springs  
100-15-19 Spherical Cold Mirror - Diameter 165 mm  
100-15-08 Lamp Supports  
100- 03- Optical Materials Main Assy. No.:  
222-03-05 Meniscus Lens Ø 147  
12046 PANI-universal filter Ø 219x4  
100-15-19 Spherical Cold MIrror Diam.165 mm  
100-04- Control Housing (Projector) Main Assy. No.:  
31.11.000 Auxilliary Connectors 3- pole  
432522/431756 Connector Housing / Pin Unit  

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/


Order your Spare Parts online here -> lightspares.com Worldwide Express Delivery 
Part or number not found? Send us a request! -> Contact us! 

 

 
          Your online store for all stage lighting spare parts https://lightspares.com 
         ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 
  

100-11-T Cover Insulation Main Assy. No.:  
100-11-T Insulation complete  
88941295 Tires for Ballast BC 6000 EP 

82950308 Wheels for Ballast BC 6000 EP 

81105535 Lower Choke Anchors for Ballast BC 6000 EP 

88941401 Shock Mounts for Ballast BC 6000 EP 

63090137 Choke for Ballast BC 6000 EP 

71011134 Housing for Ballast BC 6000 EP 

82931450 Latch for Ballast BC 6000 EP 

88941014 Knob for Ballast BC 6000 EP 

81019530 Latch Guide for Ballast BC 6000 EP 

86760043 Spring for Ballast BC 6000 EP 

81105534 Upper Choke Anchors for Ballast BC 6000 EP 

87530080 Voltage Selector for Ballast BC 6000 EP 

71012222 Upper Cover for Ballast BC 6000 EP 

84610165 Clamp SAK 16/ 35 for Ballast BC 6000 EP 

72000535 Voltage Selector Cover for Ballast BC 6000 EP 

86802092 Handle Stop Pins for Ballast BC 6000 EP 

81029531 Handle Stop Yoke for Ballast BC 6000 EP 

88505250 Circuit Breaker Frame for Ballast BC 6000 EP 

71019511 Handle for Ballast BC 6000 EP 

84610162 Grounding Clamp for Ballast BC 6000 EP 

88472201 Circuit Breaker for Ballast BC 6000 EP 

84620085 Clip Strip for Ballast BC 6000 EP 

88205275 Resistor for Ballast BC 6000 EP 

87305995 Heat Shield for Ballast BC 6000 EP 

88521021 Fuse 2AT for Ballast BC 6000 EP 

88521061 Fuse 6,3 AT for Ballast BC 6000 EP 

88320080 Capacitor 75 F for Ballast BC 6000 EP 

88320041 Capacitor 40 F for Ballast BC 6000 EP 

71104764 Capacitor Mounting Plate for Ballast BC 6000 EP 

81019505 Spring Loaded Feet for Ballast BC 6000 EP 

88901500 Slide Switch for Ballast BC 6000 EP 

87534094 Cable Strain Relief for Ballast BC 6000 EP 

87534098 Cable Strain Relief nuts for Ballast BC 6000 EP 

93643061 Power Cable 2 m for Ballast BC 6000 EP 

71011980 Front Panel for Ballast BC 6000 EP 

74140003 Pushbutton Unit for Ballast BC 6000 EP 

87435204 Circuit Breaker Frame for Ballast BC 6000 EP 

78800560 Printed Circuit Card for Ballast BC 6000 EP 
 

https://lightspares.com/
https://lightspares.com/contact
https://lightspares.com/

